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zZzw
6,¿â^ÉÀ�/õGX Schemas Zzg Data Abstraction, Instance Hì? DBMS .1

Æfg=z�s# FeatureÆER Model Ã Library Management ÅZS:]»bCÙ}�}X ER Model .2

ÙX
Z�Z�}X DDL Operation 6,Table Hì?fs~�b� DDL .3

þþConsider Faculty Table

FacultyID Faculty_Name Department

Perform the following:

a) Rename the table Faculty as Employee

b) Add a new column emailid with not null constraints to the existing table faculty

c) Drop Column Department

d) Delete Table Employee

ùZ�Z�D� OperationÆCartesian Product Zzg Difference, Union, Rename~ Relational Algebra .4

~¾a�D�? SQL »ZEw Having Clauses Zzg Group by .5

Foreign Key Constraint Zzg Primary Key Constraint ÐH%Z�ì?o�&VwÆ�B Integrity Constraint .6

Åz�s#ÙX
6,VwÆ�Bâ^ÉÀ�/õGX Logical Operation fs~�b� .7

LIKE (a

NOT (b

AND (c

OR (d



ÅS:]Åz�s#�,X ACID Properties Å Transaction Hì? Transactions .8

ì?ZL�Z[»�Zi7�,X (Logical Concept) Zq-!3©�ö
EG

¦g (Disk Cylinder) He�Yg .9

Ão�&VßVÆ�Bz�s#�,X Cluster File Organisation þþ .10

�zx z

Ã,Ðz�s#�}X Relational Database Architecture .11

ÉÀ�/õGX Domain Relational Calculus »ZEw�D�ñ Schema fs~�b� .12
Sailor (sid, sname, age, rating)
Boats (bid, bname, bcolor)
Reserves (sid, bid, day)

a) Find the boats reserved by sailor with id 567.
b) name of the sailors who reserved 'red' boats
c) Find the boats which have at least two reservations by different sailors.

ÃzZã�}X EvaluationÆ Query ÐM\»HÈì?fs~�b� Null Value (a) .13
select customername, contactname, address
from customers
where address is null;

�ÇX Evaluateù Result » Query Hì?fs~�b� Join (b)
select customers.customername, orders, orderid
from customers
left join oders on customers.customerid = orders.customerid
order by customers.customername;

H�?,ÐCNX (Levels) ÅZ+ RAID .14

Zzgv**] (Advantages) §iÒy�,XZkǢZZ+ Indexed Sequential Access Method (ISAM) .15

H�? (Disadvantages)

///


